BREIALEVWI L)

THIEE BREEAXRFERFRAFGAER HE MRIAR

K —
# —
o 2| [DPO22DD DD D] -
RS Bl lccococococooos o
gl Tlcoocococococoos
B @©3| =1 D> DD DD DD DD D
ZH5EEICLTIEZL —
1 4 3 4 4 4
(1) 2401 (2) _ (3) 521 (4) 168
10 —_
4 4 4 4
(5) 135 (6) 19019 @ 65 (®) 11.4
9 ROEZA 3
6 NDEEHT60%x 6 =360 ()
5ADEEHT(60 —3) x5 =285(4)
X ->T 360-285=75 (&)
(1)
1
EZ 75 =
ROEZAH 3
2DODR =N DOERIITE L WD, [EBROYRE L5 L,
(100 + 150) =2 =125 (M)
300 T RTBRAR—NARUTF LT AL,
Q)ﬁﬁﬁ%h1125><3oo==37500 ()
AR DOEERE33450 72D T, 37500— 33450 = 4050 (M) £\,
5 - T 4050 = (125 — 80) = 90
1
ER 90 &
ROEZA 3
BB > TV A EEBERIIGHE ST LD TH D,
DEERNS A ST AT, FOEZTORIED G EE T
HIviX L,
mlﬂ%Wﬁ?@ﬁ?%ﬁﬁ%ﬁ@f%é%@m
1, 4,9, 16, 25, 36, 49 D 7 {1 ThH 5,
LoTH--TWAETERIZ7TETH 5,
1
BEA 7 {&

SN-P0572 [ ]



Tl — b 5% FICL TS SN

3

(1)

7 2|14 2|~ 2|T 2|#4

5 25 105 3 12

(2)

2125

RXOEZA 2x0O...

36 X O —4xOxODOXRITmEBEIADPHD IS5,

SR ORI KT 2 5 DILE B DT, e
@ 2xO0=18-2x0O A
4x O =18 s
9 9 _ 9«2 _ 1
<):§ £ oT36x-—4x-x- =81 . 31
4 5 5
(1) 67 L@ 51 ,
ROEZA 5
HHCHEAS 80,8 EDEAEIT63+47-80=30 (N)
A H 4558080 EOARIT47+60—76 =31 (A)
| FE= BEREH 80 L, EDOATEIT60 + 55 — 63 =52 (A)
X6k&V(55+63+47+60)—(51+30+31+52)+9=70
1
Bz 70 A
5 FIR 3 2 2|0 & 3
@ 3.08 @ 16 @ 4000 10.58
km J& N km
Zoulry ho#EE S 1E1[kg] x 2000[m/F] = 2000[N] °
BT 5 E#HAEOR ET 5 L,
1E A OIS £ o Tr by M [m/B] = &lkm/B],
208 H ORI Lo Trsy K iM[ /] = 2 == [km/B],
3E H ORI L > Tr sy b g°[ﬁw-——ﬂmﬁﬂm$¢50
HHET D ONTIET A2 RE SO RIF1ITo/ha<
DL ENDING,
a4 NI FIZIEE > TV Bk EE, ?&b%ﬂ%%mb%m HI D72, 1kgD
NTEEIC o2 2o ST, 0+6 O_—1+ """ E I[km/ii]clifiéo
Z O I PFE7.9kmLL EIZ72UZRWVWO T, T EaTERT L,
0+ S+ttt 279, MlE2THY,
1 1
@ 0+ 5+mt +E+I§395—C)
%%tfﬁ%méwO%%zé
1 1 1
§f0+(4)+(7hi@§Q+E§+~~;+%+E=292+067+040=399;395
35 = 0033+ ct05§+§y- ------ +§+I=&%nm;395
= 0.034 - i@—lw"£+ ------ +1+1—392&~<395
29 28 27 2 1 7 -
k@ét@,@%%tﬁw%méwOin%é
Lo TlkgD N THRIZ2 D T2 OITITEAR29B T 2 LE RN & D,
1
EZ 29 E




